052.

ART. 023 90° Needle Sampling Valves MHOX ==RATTIINOX

ASEPTIC EQUIPMENT - DESIGN & SUPPLIER

SIDE SAMPLING VALVES

ART. 023/A ART. 023/C

ART. 023/A 1 Hose Barb Outlet
ASTM A270 Tri-Clamp - Flange design according to ASME-BPE

Int. finishing: Ra < 1,2 pm

Si 2B L Valve Material 0O-Ring Material Cod . .
e€ SE Malers Ty WS O¢€ Ext. finishing: Ra < 1,6 pm mirror polished
FPM/FKM 023A60050V . .
Max Working Conditions:

1/2” 6,00 38,00 1.4404 EPDM 023A60050EFP 6 bar (87 psi) and 150°C (300°F)

SILICONE FDA 023A60050SIF Installation:

FPM/FKM 023A60075V Horizontal installation recommended
3/4” 6,00 38,00 1.4404 EPDM 023A60075EP

SILICONE FDA 023A60075SIF

ART. 023/C 1 Hose Barb Outlet + 1 CIP Hose Barb Inlet
ASTM A270 Tri-Clamp - Flange design according to ASME-BPE

Size 2B L Valve Material 0O-Ring Material Code
ART. 023/A
FPM/FKM 023C60050V
1/2” 6,00 38,00 1.4404 EPDM 023C60050EP
SILICONE FDA 023C60050SIF
FPM/FKM 023C60075V
3/4” 6,00 38,00 1.4404 EPDM 023C60075EP
SILICONE FDA 023C60075SIF
ART. 023/C
Spare parts
2 N° Name Material
§ 1 Body AlISI 316L
N 3 2 Piston AISI 316L
—HE s ommans  uTOMeEOM
L 4 M3 Screw AISI 304
J 5 Handle AlSI 316L
2 6 Seeger AISI 304
ART. 023/A ART. 023/C
N° Description Valve size Code
2 Piston - n° 1 pcs all sizes AAAA0381
3 O-Ring Kit 2025 FPM/FKM - n° 5 pcs all sizes ORNSVO05V
3 O-Ring Kit 2025 EPDM - n° 5 pcs all sizes ORNSVO5EP
3 0O-Ring Kit 2025 SILICONE FDA - n° 5 pcs all sizes ORNSVO05SIF
5 Handle - n° 1 pcs all sizes AAAA0380
6 Seeger - n° 10 pcs all sizes SEEGERSV

Balvinox sprl | Rue desblés d'Or, 1 | B- 1360 Perwez (Belgium) | T+32(0)81877 143 | F+32(0)81877637 | info@balvinoxbe
Rattiinox srl | Via Mara, 44 | 22066 Mariano C.se (Como) Italy | www.rattiinox.com | info@rattiinox.com



—
ART. 02 2 90° Needle Sampling Valves - Gas Threaded =2 RATTIINOX

ASEPTIC EQUIPMENT - DESIGN & SUPPLIER

SIDE SAMPLING VALVES

Male Gas Threaded

Int. finishing: Ra < 1,2 pm
Ext. finishing: Ra < 1,6 pm mirror polished

Valve Material 0O-Ring Material

FPM/FKM 022260025V ) .
Max Working Conditions:
1/4” 6,00 38,00 1.4404 EPDM 022Z60025EP 6 bar (87 psi) and 150°C (300°F)
SILICONE FDA 022Z60025SIF

Installation:
Horizontal installation recommended

Spare parts
6
= N° Name Material
1 Body AISI 316L
: 2 Piston AISI 316L
j P A o ommams  TUmGEM
i | 4 M3 Screw AlSI 304
L‘ 5 Handle AISI 316L
1 6 Seeger AISI 304
N° Description Valve size Code
2 Piston - n° 1 pcs all sizes AAAA0381
S O-Ring Kit 2025 FPM/FKM - n° 5 pcs all sizes ORNSVO05V
3 O-Ring Kit 2025 EPDM - n° 5 pcs all sizes ORNSVO5EP
3 O-Ring Kit 2025 SILICONE FDA - n° 5 pcs all sizes ORNSVO05SIF
5 Handle - n° 1 pcs all sizes AAAA0380
6 Seeger - n° 10 pcs all sizes SEEGERSV

www.rattiinox.com info@rattiinox.com .053



ART. 04 1 180° Needle Sampling Valves -_:’% RATTIINOX

ASEPTIC EQUIPMENT - DESIGN & SUPPLIER

SIDE SAMPLING VALVES

ASTM A270 Tri-Clamp - Flange design according to ASME-BPE
Int. finishing: Ra < 1,2 pm

Si A 2B L Valve Material 0O-Ring Material Cod . .
ee e Matens g Matend O¢e Ext. finishing: Ra < 1,6 pm mirror polished
FPM/FKM 041260050V . .
Max Working Conditions:
1727 17,00 | 6,00 66,00 1.4404 EPDM 041Z60050EP 6 bar (87 psi) and 150°C (300°F)
SILICONE FDA 041Z60050SIF Installation:
FPM/FKM 041260075V Vertical installation recommended
3/4” 17,00 | 6,00 66,00 | 1.4404 EPDM 041Z60075EP
SILICONE FDA 041Z60075SIF
o8B
]
‘ <
\
—
I
@25
Spare parts
N° Name Material
1 Body AISI 316L
2 Piston AISI 316L
: FPM/FKM or EPDM
8 O-Ring 2025 or SILICONE FDA
4 M3 Screw AISI 304
5 Handle AISI 316L
6 Seeger AIS| 304

N° Description Valve size Code

2 Piston - n° 1 pcs all sizes AAAA0382

S O-Ring Kit 2025 FPM/FKM - n° 5 pcs all sizes ORNSVO05V

3 O-Ring Kit 2025 EPDM - n° 5 pcs all sizes ORNSVO5EP
3 O-Ring Kit 2025 SILICONE FDA - n° 5 pcs all sizes ORNSVO05SIF
5 Handle - n° 1 pcs all sizes AAAA0380

6 Seeger - n° 10 pcs all sizes SEEGERSV

054. www.rattiinox.com info@rattiinox.com



—
ART. 033 180° Needle Sampling Valves - Gas Threaded == RATTIINOX

ASEPTIC EQUIPMENT - DESIGN & SUPPLIER

SIDE SAMPLING VALVES

Male Gas Threaded

Int. finishing: Ra < 1,2 pm
Ext. finishing: Ra < 1,6 pm mirror polished

Valve Material 0O-Ring Material

FPM/FKM 033260025V ) .
Max Working Conditions:
1/4” 17,00 | 6,00 54,00 1.4404 EPDM 033Z60025EP 6 bar (87 psi) and 150°C (300°F)
SILICONE FDA 033Z60025SIF

Installation:
Vertical installation recommended

0B
-
‘ <
-
Spare parts T
4
g N° Name Material
77 RS
il 1 Body AISI 316L
W L
%\i% B 2 Piston AISI 316L
2 éﬂé KRR
|\
:‘;_l;:/é | 3 O-Ring 2025 FPM/FKM or EPDM
%I? 9 or SILICONE FDA
N
&= 4 M3 Screw AISI 304
5 Handle AISI 316L
6 Seeger AIS| 304
N° Description Valve size Code
2 Piston - n° 1 pcs all sizes AAAA0382
S O-Ring Kit 2025 FPM/FKM - n° 5 pcs all sizes ORNSVO05V
3 O-Ring Kit 2025 EPDM - n° 5 pcs all sizes ORNSVO5EP
3 O-Ring Kit 2025 SILICONE FDA - n° 5 pcs all sizes ORNSVO05SIF
5 Handle - n° 1 pcs all sizes AAAA0380
6 Seeger - n° 10 pcs all sizes SEEGERSV

www.rattiinox.com info@rattiinox.com .055



ART. 344 90° O-Ring Sampling Valves -‘%RAT-H INOX

ASEPTIC EQUIPMENT - DESIGN & SUPPLIER

SIDE SAMPLING VALVES

!
ART. 344/A ART. 344/C

ART. 344/A 1 Hose Barb Outlet

Int. finishing: Ra < 0,4 pm
Ext. finishing: Ra < 0,8 pm mirror polished

Valve Material 0O-Ring Material

FPM/FKM 344A6BSPP37V . .
Max Working Conditions:
EPDM 344A6BSPP37EFR 12 bar (170 psi) and 150°C (300°F)
3/8” 61,50 1.4404
SILICONE FDA 344A6BSPP37SIF Installation:
SILICONE USP 121 344A6BSPP3751121 Horizontal installation recommended

ART. 344/C 1 Hose Barb Outlet + 1 CIP Hose Barb Inlet

Valve Material 0O-Ring Material

FPM/FKM 344C6BSPP37V
EPDM 344C6BSPP37EP
3/8” 61,50 1.4404

SILICONE FDA 344C6BSPP37SIF

SILICONE USP 121 344C6BSPP3751121 |
[8
f

Spare parts N° Name Material

1 Body AlISI 316L

FPM/FKM or EPDM
2 O-Ring 3021 or SILICONE FDA or
SILICONE USP 121

3 Piston AISI 316L
FPM/FKM or EPDM
4 O-Ring 2037 or SILICONE FDA or
SILICONE USP 121
® 5 Ring AISI 316L
ART. 344/A ART. 344,0\@) 6 Grub Screw M4 AISI 304
7 Handle PTFE + INOX
N° Description Valve size Code
2+4 O-Ring Kit 3021 / 2037 FPM/FKM - n° 10 + 10 pcs all sizes ORSV1010V
2+4 O-Ring Kit 3021 /2037 EPDM - n° 10 + 10 pcs all sizes ORSV1010EP
2+4 O-Ring Kit 3021 / 2037 SILICONE FDA - n° 10 + 10 pcs all sizes ORSV1010SIF
2+4 O-Ring Kit 3021 / 2037 SILICONE USP 121° - n° 10 + 10 pcs all sizes ORSV1010SI121
5 Ring - n° 1 pcs all sizes AAAA0090
6 Grub Screw M4 Kit - n° 10 pcs all sizes ORSVM4X10
7 Handle PTFE + INOX - n° 1 pcs all sizes ORSVHA1

056. www.rattiinox.com info@rattiinox.com



ART. 390 30° O-Ring Sampling Valves -_€>RATT| INOX

ASEPTIC EQUIPMENT - DESIGN & SUPPLIER

SIDE SAMPLING VALVES

ART. 390/A ART. 390/C

ART. 390/A 1 Hose Barb Outlet

Int. finishing: Ra < 0,4 pm
Ext. finishing: Ra < 0,8 pm mirror polished

Valve Material 0O-Ring Material

FPM/FKM 390A6BSPP37V . .
Max Working Conditions:
EPDM 390A6BSPP37EF 12 bar (170 psi) and 150°C (300°F)
3/8” 61,50 1.4404
SILICONE FDA 390A6BSPP37SIF Installation:
SILICONE USP 121 390A6BSPP3751121 Horizontal installation recommended

ART. 390/C 1 Hose Barb Outlet + 1 CIP Hose Barb Inlet

Valve Material 0O-Ring Material

FPM/FKM 390C6BSPP37V
EPDM 390C6BSPP37EP
3/8” 61,50 1.4404
SILICONE FDA 390C6BSPP37SIF
SILICONE USP 121 390C6BSPP3751121
Spare parts N° Name Material
1 Body AISI 316L

FPM/FKM or EPDM
2 O-Ring 3021 or SILICONE FDA or

SILICONE USP 121
e —

ouTt

%F\i\k\\\\\:

N
%

NZ

[N 3 Piston AISI 316L
OUT /=
h FPM/FKM or EPDM
4 O-Ring 2037 or SILICONE FDA or
SILICONE USP 121
— o 5 Ring AISI 316L
ART. 390/A 6 Grub Screw M4 AISI 304
7 Handle PTFE + INOX
N° Description Valve size Code
2+4 O-Ring Kit 3021 / 2037 FPM/FKM - n° 10 + 10 pcs all sizes ORSV1010V
2+4 O-Ring Kit 3021 /2037 EPDM - n° 10 + 10 pcs all sizes ORSV1010EP
2+4 O-Ring Kit 3021 / 2037 SILICONE FDA - n° 10 + 10 pcs all sizes ORSV1010SIF
2+4 O-Ring Kit 3021 / 2037 SILICONE USP 121° - n° 10 + 10 pcs all sizes ORSV1010SI121
5 Ring - n° 1 pcs all sizes AAAA0090
6 Grub Screw M4 Kit - n° 10 pcs all sizes ORSVM4X10
7 Handle PTFE + INOX - n° 1 pcs all sizes ORSVHA1

www.rattiinox.com info@rattiinox.com .057





